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Exs | AP % LS . mExs | AP 7 % . Exs | AP 7 x & 3t
BANIERE | SR A TRA T HA AT | ARE R RE TR ER N ol BN PN ¥4 TRA TR
Fuil HAN 492 902 1,044 PE HAN 2,192 2,092 4,284 EZels HARN 172 1389 301
SR A 5 6 T IS %6 38 1 SR A 3 3 6
i 497 Hh8 1,005 S 2,228 2,130 4,358 kil 175 192 367
519 2 8 529 1,793 48 12 1,853 171 1 2 174
TR HAN 972 910 1,882 INEH AT TE EZIK/\ 2,074 1,926 4,000 [EES HAN 1,457 1,456 2,913
FANESPN 8 4 12 FINESPN 20 13 33 SRE A 14 4 18
S 980 914 1,894 S 2,094 1,939 4,033 S 1,471 1,460 2,931
et 11 1 186 1,538 17 10 1,565 1,222 9 I5) 1,236
A HAN 090 070 1,372 INEFINTE EZIK/\ 3,003 3,441 (1,044 BI#ZS EZIKJ\ 1,000 9600 1,960
FANESPN 13 12 25 FANESPN 28 32 60 FANESPN 18 14 32
B3 709 688 1,397 i 3,031 3,473 7,104 B3 1,018 974 1,992
H94 14 3 oll 2,004 34 22 2,620 845 15 5 86H
N HAN 0 0 0 e B H ZIKJ\ 124 122 246 EAEEER HAN 395 412 807
ISTDN 0 0 0 IS 14 T 5 S A a g T2
i 0 [0) [0) i 138 123 261 LS 399 420 819
0 0 0 0 119 15 0 134 280 1 [§] 287
ANEVE HANNAN 1,006 1,670 3,210 R HAN 407 41hH 322 AR HAAN 22,418 1 21,940 | 44,508
LANESPN 19 7 26 LINESPN 1 3 4 LINESPN 231 212 443
S 1,625 1,677 3,302 EiS 408 418 826 EiS 22,6491 22,1521 44,801
1350 17 5) 1,572 300 0 4 309 15,100 229 122 15,000
ZEHK HAN (2 330 1,002 BaE HAN T3 108 1,451 E|7'T<)\
I3EEDN 8 T0 I8 ISEDN 6 7 T3 FISEEN
Eil 780 840 1,620 EiS 779 715 1,494 EiS
(14 5) [§f (20 630 3 §] 039
EZE HAN ol7 499 1,016 SR HAN 940 947 1,862 =2 N
ISEEDN T0 6 76 ISEN 4 5 T0 PR A
Eil 2T 515 1,042 EiS 944 948 1,892 EiS
494 21 3 oly ey 4 [§] 197
ENIT HAN 4 3 " Rt HAN 1,204 1,220 2,484 HANN
IS 9 0 7 IS T0 3 73 ZISEDN
= 6 3 9 = To7d [ T.233 | 2507 =5
3 2 0 5) 1,020 1’ 1’ 1,034
KEF HAN 1,962 1,888 3,300 T T H K}\ 302 316 ol3 HAN
SN 1 T 5 IS 0 0 0 ZISEDN
Eis 1,966 1,899 3,800 B3 302 316 018 S
1,492 2 3 1,002 200 0 0 200
FATIEENN H 7&/\ 501 520 1,021 3G HAN 193 193 330 HAN
SN 3 3 6 SN i T 7 ZISTIIN
a1 504 Hh23 1,027 &S 194 194 388 GBS
439 1 1 437 200 0 2 202




